BRT7—-3 CHUEDTIO—-E (¥ 29 FE)

MIBZAOEEER : A IB « WORMBI(ERT : t /&, ( ARt /B8)
A B D Et 614,450t 435551 | © BREDHBEL
@ s = 449,092 (1,230) x|
] (@ CHIURE) 23.798 | © KT HUIBHESS .
G 556,704 23,798(65) — -
0 (1,525) = o~ Il
E u_y ,Ei%' 299 1,309 @ L_ajiﬁﬂEHbﬁﬁﬁx :
A | x PR 476,530 1,309(4) |
3} L AR 15,616 123 | @ CHETRIbHESR "
A BB 56,095 123 (0.3) -
A Z0f 3,597 | N = I
A \JEK 4,637 ) 29 XSig{(l(:);}'@ux - Jl
o | o~ p < | | 3541 [ @ Commieiees ii
@ Es}f}iz\ 83,547(229) =+
AN
(154) 33.235 | @) ZDHOERILE I
- J BT 56 .
(@ =gy ) 33,235(91) o
1,449 639 | 12 ZDthDhHEs% T
(4) ) 639 (2) —
1572 ] 43 BHRMD 1 J4:235]
@ BxnE ) 21,807(60)
3350.9) | [28574] @) BRI 26,766
) 155,340(426)
( a= M=o =) T
® £HQRIC ;
KDERIE y
) 16771  ke-m=-- » 10 ERIEESET
1.829.745 | 1,829,745 | 1,829,745 L (46) ) 172,111 (472)
|_ e — FPRENEBHSOERICE
—E BRMEAD 0 1T Sommmmmnsonns
— C FEREXEHNAD 0 <. — gomnEmEsassSoammes
X KEREVEST.
StTEREXIEER B/ AX100=100%
« STBIUNER D/ AX100=100%
- STEINES 1=556,704 t /&F
- STENIES D+2+DB@=614,450t /&
BHE R D+@+3+1=631,221t /F
« 1 A1BHEVDOTCHEEESE (@D+2+Q+) X106/ (BX365) =945g /A« B
« ERIEXR @,/ (D+2+@+01) X100=27.3%

«BRAXR ((0— (B+OHSDERIEB+ONLSDERIER)) / (D+@+Q) X100=12.4%
o BN (D+2+03—®) / (D+@+Q) X100=96.5%



